1.21asU 2vK1IAUDY sin X, cos X, tan X, sin Z, cos Z ua: tan Z

LWWURAKQ 5.1 AstamMaaswugiu u.3 1au 2

sin X =
X CosS X =
tan X = qoaslan
[=] 4 [m]
o000 -

[=];

TUENONG



1.21asU 2vK1IAUDY sin X, cos X, tan X, sin Z, cos Z ua: tan Z

LWWURAKQ 5.1 AstamMaaswugiu u.3 1au 2

sinZ =
X COSZ~=
Z — 2
tanZ= atoasldn
[=] 3% =]
00 .

[=];

TUENONG



A1aIuUsS:91AaU
D1asU dvKkIAwaY sin Y, cos Y, tan Y

LWURWAKQ 5.1 psuamMaaswusiu u.3 t1au 2

qQuaaglan

Opm0
ot

TUENONG




N N\ N N\ N
2.91asU a))\mn'wa\) sin SPQ, cos SRQ, tan SQR, sin RPQ, cos PQS
ia: tan PRQ
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1.09K1WAAWS

LWWUiAaKa 5.2a pdiamMaaswusiu u.3 1au 2

1) sin 30° - cos 60°
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3) tan 45° - (sin 60°)’
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6) (tan 60°)" '+ cos 60 + sin 45
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